
Name Datum Klasse
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Rechenkreisel, Blatt 2
Aufgaben zur Multiplikation bis 1000

Aufgabe 1

13
4

6
1

Innenprodukt:

3
7

18
1

Innenprodukt:

14
5

6
1

Innenprodukt:

Aufgabe 2

1
317

221

Innenprodukt:

2
1

26

22

Innenprodukt:

1
9

7

5

Innenprodukt:

Aufgabe 3

2

1

26

Innenprodukt: 104

214

231

4

Innenprodukt:

10

16016

2

Innenprodukt:
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Lösung: Rechenkreisel, Blatt 2
Aufgaben zur Multiplikation bis 1000

Aufgabe 1

+

13
4

6
1

52

246

13

Innenprodukt: 312

+

3
7

18
1

21

12618

3

Innenprodukt: 378

+

14
5

6
1

70

306

14

Innenprodukt: 420

Aufgabe 2

+

1
3

13
17

3

39221

17

Innenprodukt: 663

+

13
2

1
22

26

222

286

Innenprodukt: 572

+

5
1

9
7

5

963

35

Innenprodukt: 315

Aufgabe 3

+

2
13

1
4

26

134

8

Innenprodukt: 104

+

1
21

11
4

21

23144

4

Innenprodukt: 924

+

2
10

16
1

20

16016

2

Innenprodukt: 320
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